Partial hints for solving tonight's El Sol Sheet

1. This is a pretty good drawing of what Thomson thought a Plum Pudding NEUTRAL hydrogen -
atom looked like. It shows a positive circle with one electron in it.
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This is (choose one) This is (choose one) This is (choose one) This is (choose one) This is (choose one)
a) ananion a) ananion a) ananion a) ananion a) ananion
b) neutral b) neutral b) neutral b) neutral b) neutral
c) acation c) acation c) acation ¢) acation ¢) acation

2. Go through the boxes below and do the following:
« circle any metal that has a variable charge

" = cross out any polyatomic ion
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Polyatomic ions just get whatever name is on your photocopied ion sheet given on Tuesday.

« metal ions that don't have a variable charge are called by their element name. For example, st is
just named strontium.

4. Do steps #2and #3 on the boxes below
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Name the following compounds by combining the names you wrote earlier in this sheet:

How many atoms, total, are in this box?
How molecules are in this box?

What is the formula of this compound?

Which would be an acceptable way to say what's in this box

a) CgHig b) C4H15 C) other

g/mole in the periodic table)

9. What is the molecular weight of this substance? (the units of your

answer should be in g/mole. Your first step should be to look up the
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10. Na,CO,

11. PbNO;

12. AL(COs);

13. VCO;4
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14. Fe(NO,); l% @N ﬂm

5. (oo, PMMONIUM CAZBONATE

16. Au(No;),
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18. In the table below, fill in the formula of the ionic compound below its name:

Zinc sulfate

Cobalt (Il) carbide

SKIP

Silver selenide

SKP

Ammonium sulfide

Skib

Lead (ll) nitrate

Silver oxalate

Lead (IV) oxide

SKI(P

Minle/siu(m (sxide

N

Copper (1) sulfate

Copper (ll) sulfite

CU303

Sodium bicarbonate

NACO,

Strontium hypochlorite

Iron (111) oxide

SK)1p

Copper (I) chromate

Tin (1) sulfate

Sﬂ SOL/

Potassium bisulfate
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The elements marked with a dot have variable charge. Their charge is
unpredictable, so when you describe ions from these squares on the periodic
table you must include a roman numeral in their name to tell what the charge is

(in contrast, elements like Al3+, Na+, Ca2+ DON'T need a roman numeral in their
name -- every good chemist knows what the charge is of those elements)



Answers to Tuesday's classwork
and the La Mano Sheet:

Wribirig Fermulas by Cressirig $rver

The quickest way to determine the formula of a compound of
two elements or polyatomic ions is to use the Cross-OverRule.
Look up the oxidation state of each element or ion and
Then cross over the oxidation
states without the sign to find the subscripts as shown in

reduce to lowest terms.

the diagram to the right.

space.
ceMuiA

Using the Cross-Over Rule,

IQH(! 1. NH, and C1l

determine the formula for compounds of the
elements and polyatomic ions below, and write your answer in the answer

N\ NAME

MEVZ 2. Ba and Br
m 3. Al and C
«
NC(?b &, Na and O
K3PQ; 5. K and PO,
and F
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and CO,
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and NO,
and S 4
v
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and OH
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Use the drawing below to answer #1 through #4 below.
Each circle here is an atom, each gi,ot is an electron
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. Wamm up questions:
a. How many atoms are shown in the box above? +\\ ree
b. What is the correct term for each circle? ( cation / neuiral aiom
c. What is the charge of a single ¢ ? / zero/ +1 )
d. If electrons are added to these atoms the charge of the tape will become more

( e / positive )

<—atoms in sticky tape.
(they are neutral)

:-...\/n..\

/ anion)

2. Using the neutral sticky tape atoms above as a reference point, draw appropriate numbers
of electrons into each circle below.
an atom with two 2 3 5
less electrons than e'ﬁ a cation with a "i ne
a neutral tape atom elediloa) charge of +1 electhrons
an anion with a et a cation with a Segen e)&rf“‘f
charge of -4 - electas charge of +3 bacavse
b -3 =3

_atom below.

com

il

charge of this atom is
-1/neutral / #1/+2)

The charge of thy is
(-2/-1/neu +2)

Using the neutral sticky tape atoms above as a reference point, estimate the charge on each

Thechar
(-21 1

his atom is

+1742) t. "

The charge of T atom is O

e——

_({kr;e-mgl)&rogen atom looks

this according to JI Thomson's

Plum Pudding Model:

plum?
the pudding?

- /‘

The charge is

Thomson would say this is a picture

e oo :
( + / zero

of
lum?
b) the pudding?

2N

Thomson would say this is a picture

The charge is mzem/ =)
N A
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5.. Pulling the "Top Tape' in our lab removed electrons from the Top Tape and added electrons
to the Bottom Tape

a) This would cause the number of electrons in the Top Tape to (increase /

c) Draw dots in each tape atom below to show your guess for how many electrons in the
Top-Tape and Bottom Tape (exact answers for each student will vary).

b) This would cause the number of electrons in the Bottom Tape

ES@0O

OO

increasey decrease ).

«atoms in Top Tape.
(cations)

«—atoms in Bottom Tape.
(anions)

Use the following pictures of NEUTRAL atoms to answer the next four questions

neutral Hydrogen |

neutral lithium

neutral nitrogen

neutral oxygen

neutral fluorine

L3

LI

a fluorine anion with
a charge of -1

&)

a nitrogen anion
with a charge of -3

6. Draw enough dots (electrons) on each atom to create the object described

a Li+ cation éou ¢

a cation of hydrogen
with a charge of +1

"7'/20/\15




